
14th April                                                     14th April                                                     

Simplify p + p + p + p Solve 3x = 21

An apple costs 12p

An orange costs 20p

Write down an expression for the 
cost in pence of buying x apples 
and y oranges

Reflect the shape in the red lineReflect the shape in the red line

Write 350 as a product of primes.

Round 6.32 to 1 decimal place Round 3.184 to 1 decimal place

Name: ______________                                    5-a-day                                               Foundation
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